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Note : Answer questions from all three Sections as 

per instruction given in each Section.  

Section—A 

Note : Attempt any two questions from this 

Section. 2×20=40 

1. Define the term ‘industrialisation’. Also explain 
the nature of relationship between agricultural 

sector and industrial sectors in the process of 
growth in an emerging economy like India. 
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2. Explain the strategy of growth adopted in 
India’s Second Five Year Plan and afterwards. 
How far was it successful ? 

3. Explain the main features and objectives of the 
Industrial Policy Regulation, 1956. How is the 

New Industrial Policy, 1991 different from the 
IPR, 1956 ?  

4. “The changing structure of India’s foreign trade 

is the reflection of fast-changing industrial 
scene of the economy.” Explain. 

Section—B 

Note : Answer any four questions from this 

Section. 4×12=48 

5. What do you mean by “Industrial Sickness’ ? 
What steps have been taken to keep it under 
control ?   

6. Discuss in brief the different factors that 
determine the location of an industry. 

7. Discuss in brief the role of public sector in the 
industrial development of a country. 
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8. How are the micro, small and medium 
enterprises defined in India ? Why are they 
important for the Indian economy ?   

9. What role has been assigned to the 

multinational corporations in the industrial 
growth of the economy ?  

10. Discuss in brief the major sources of finance for 
industry in India.  

Section—C 

11. Write notes on any two of the following : 

2×6=12 
(a) Joint ventures 

(b) Competition Law in India 

(c) Privatisation 
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      EEC-07 

Lukrd mikf/ dk;ZØe  

(ch-Mh-ih-) 

l=kkar ijh{kk  

fnlEcj] 2022 

bZ-bZ-lh--07 % Hkkjr esa vkS|ksfxd fodkl 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % rhuksa Hkkxksa ls funsZ'kkuqlkj iz'uksa ds mÙkj nhft,A 

 Hkkx&d  

uk sV % bl Hkkx ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

2×20=40 

1- ^vkS|ksxhdj.k* dh ifjHkk"kk nhft,A Hkkjr tSlh 

mnh;eku vFkZO;oLFkk esa d`f"kd vkSj vkS|ksfxd {ks=kksa 

ds chp varl±ca/ dk Lo:i Hkh le>kb,A 

2- Hkkjr esa nwljh iapo"khZ; ;kstuk ,oa mlds ckn viukbZ 

xbZ lao`f¼ dh ;qfDr le>kb,A ;s dgk¡ rd liQy 

jgha \ 
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3- vkS|ksfxd uhfr ladYi] 1956 ds eq[; vfHky{k.k 

vkSj mís'; le>kb,A 1991 dh ubZ vkS|ksfxd uhfr  

fdl izdkj mDr IPR, 1956 ls fHkUu jgh gS \ 

4- ¶Hkkjrh; fons'kh O;kikj dh jpuk esa gks jgs ifjorZu 

vFkZO;oLFkk ds vkfFkZd ifjn`';ksa esa rsth ls gks jgs 

cnykoksa dh gh >yd gSaA¸ O;k[;k dhft,A 

 Hkkx&[k  

uk sV % bl Hkkx ls fdUgha p kj iz'uksa ds mÙkj nhft,A 

4×12=48 

5- ^vkS|ksfxd #X.krk* ls vkidk D;k vfHkizk; gS \ bls 

fu;a=k.k esa j[kus ds fy, D;k mik; fd, x, gSa \ 

6- fdlh m|ksx dh LFkkuh;rk dks fu/kZfjr djus okys 

dkjdksa ij la{ksi esa ppkZ dhft,A 

7- ns'k ds vkS|ksfxd fodkl ds lanHkZ esa lkoZtfud {ks=k 

dh Hkwfedk ij laf{kIr ppkZ dhft,A 

8- Hkkjr esa lw{e] y?kq ,oa eè;e m|ksxksa dh ifjHkk"kk 

fdl izdkj dh tkrh gS \ ;s Hkkjrh; vFkZO;oLFkk ds 

fy, D;ksa egRoiw.kZ gSa \ 
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9- ns'k dh vkS|ksfxd lao`f¼ esa cgqjk"V ªh; fuxeksa dks D;k 

Hkwfedk iznku dh xbZ gS \ 

10- Hkkjr esa m|ksxksa ds fy, foÙk ds izeq[k lzksrksa ij la{ksi 

esa ppkZ dhft,A 

 Hkkx&x  

11- fuEufyf[kr esa ls fdUgha n k s ij fVIif.k;k¡ fyf[k, % 

2×6=12 

(d)  la;qDr m|e 

([k)  Hkkjr esa izfrLi/kZ vf/fu;e 

(x)  futhdj.k 

 

 

 

 

 

 

 

 

EEC–07   


